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cos 0 —sin0.cos 0

cosec 0 -1

) hease +sin 0.cos 0

cosecO+1 °

= sin 90°.

Tan®
s
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22, Find the coordinates of the poin ] %;’55\:
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Find the coordinates of the point which divides the line scoment
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are rotten and
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5 questions -

Divide p ( x) = 3 +3x? +ax.+ 5 by g(x)= x2

-x+ 1 and
ﬁnd the quoticnt | g ¢ x) ] and re

mainder [ r( x) B
OR

= Ehe polynomial p( x) = 534 4x? + 5x -2 is divided by the
momial g ( x ), the quotient [ g ( x) | and remainder [ r ( x) |

—x+2and4 respectively. Find g ( x).

mean for the following data :

Class-interval Frequency
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81.

Find the mode for the faliowiﬂg data :
Class-interval Frequency
1-5 1
5-9 3
9-13 7
¥ 13-17 10 .
. 17 - 21 9

27. D’ is a point on the side BC of a A ABC such that
| ADC = | BAC. Then prove that ACQ = BC. CD.

=]y

the figure, A ABC and A AMP are right angled triangles, right
at Band M respectively. Then prove that = e C

PA  MP-
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etic progression the sum of first n terms is 210 and

(n- 1) terms is 171. If the first term of the

J3 of 16

01 0 OO A0



iaiﬂ!ﬁ:!.a._i:! 0T e

" Y@ REDMI NOTE & PRO
MI DUAL CAMERA



/PR IBe —— -
-~Z/RR/PR/NSR / NSPF A)/666/032

1x8=5

- An insect control device made of a cylinder, a frustum of a cone

.-é@ﬁﬂ, a hemisphere attached to ecach other is as shown in the

ii :Qj" hemisphere and cylinder are 21 cm and 14 cm

and total height of the device is 60 cm and height of
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